ggbbobuooobobobooogn

ogbobobobo 00O oo
gobooaoo ug og
goboogooo oo 0O

0oo00dooooooooooboooooobooooobooooooooooon
o0oooooooo0,0000b0oO0000,000b0000 (Do, 00b0b0oO,o
O0000)000000000. 00000, Srivastava (1984, Statist. Probab. Lett.) O
O0oooooo,0odooobooooooboooooooooaa.

xr,xe,..., ey 1O O0000O0O0D0 pw, 0000000 XO00000000 pO0O0Od
00000000, $0,0000T1 = (v,9,---,7,) 0 Dy = diag(A, Aa, .-, Ap)
(A, i=1,2,...,p020000)0000,S=0CD,'00000.00,000000
D00000000000000%, 8=HD,HO000. 000, H = (hy,hs,...,h,)0
0oooo, D, =diag(wy,ws,...,wp) (wi, i=1,2,...,p0 SOO000)000. Srivastava
(1984) O, yij = ha;(j = 1,2,...,N), 3 = N'¥¥ 15,0000, 00000000,
goooooao.

oooood,00,000000000000DbO00DO0O00O0DbOOo0ooDbOOo0oO,don
ooooo, oo bipDDDDDDDDDDD.

Srivastava (1984) 0, 0 000000000,00,0000000000000000O
O Theorem [0 00 O .

Theorem 1 (Srivastava (1984)) DO OO0 NOOOO,

@bQ o~ 2 VNp(bzp — 3)
6 P

, ~ N(0,1
Xp ol (0,1)

goo.

oooooo,100000b00b00b0o0obooboob0oboooboon Jarque-Bera O
gobooboogobooo

b} (b2 — 3)?
MJB = Npq—£+ =L
! p{ Y

00000.0000000000000p+10200000.
gbo,000000000000000000 LemmaO0O0O0O.



Lemma 1l 00000 NOOOO,
6(N —2)
Eb7,) =
(1) (N +1)(N +3)’
1 72N(N —2)(N3 + 37TN? + 11N — 313)

Var(bi,) = N T 020N 3 32N 1 5)(N + TV L9
Variba,) = 24 N(N —2)(N —3)

T p (N+1)2(N +3)(N +5)
ooo.
Lemma 10 00000000,00000000000000 (MJB'000)0O0O,

pb%,p (b2,p - E(b2,p))2

MJB' =
E(bip) Var(bs,p)

00000. 000000 MJBOOOOODODODDOOOO p+10x200000.000
oooooooopoo,0o0o0,00,00000000000000OO0D0000O00OO.
O0,0000000000C0DG0O00O0O0O0O bipDDDDDDDDDDD. ooo,
xi,x2,...,ey0000000E, (e, A)00D. 0000,2; 000000, E(it'w)¥(t'At)
oog, Cov(z;)=—29(0)A=X000.000000000,000=z0 S00000
0000, Iwashita (1997, J. Statist. Plann. Inference) D0 0000000000000
oooo.
oo00,0000000000000,
D, =

1 XN B _,
ﬁgl(yj -9)(y; —Y)

00000000000, 9, ¥ ¥ D,.O000000000000000O.

gt = L g: v,
N—=2,255
D) = LS5 (gl glany
“ N =3%ap "’ !

00,0000000000,p=0,Y=/,0000000,
mg(a”g):zz(zl,ZQ,...,zp)',
VR =3DED 1) = 7 = {zas)
goo.ooood bipDDDDDDDDDD,DDDDDDD.
Theorem 2 00000000 w, ADODODOODOODOO, OO bipDDDDD,

1

E(b7,) = ~7 (6 + 15k (3) — 18k(2)) + o(N71)

000. 000, ke D0 k0000000000000, kg = ¥R (0)/{¥(0)}*-10
oo.



